
Γ ΛΥΚΕΙΟΥ ΜΕΡΟΣ Α 
 

7.14       1)   

 
x x

1 2
lim 4x 1 x 2 lim x 4 x 1

x x 

    
                

 

x x

1 2 1 2
lim x 4 x 1 lim x 4 1

x x x x 

   
           

   
 

 
x

1 2
lim x 4 1 4 0 1 0 1

x x

 
              

 
 

7.14       2)   

 
x x

1 3
lim x 1 2 x 3 lim x 1 2 x 1

x x 

    
               

 

x x

1 3 1 3
lim x 1 2 x 1 lim x 1 2 1

x x x x 

   
           

   
 

   1 0 2 1 0        

7.14       3)   

x x

1 1
x 1 x 1

x 1 x 1 x x
lim lim

4x 2 3 x 5 2 5
x 4 3 x 1

x x

 

   
     

      
 

      
     

   

 

x x

1 1 1 1x 1 x 1 x 1 x 1
x x x xlim lim

2 52 5
x 4 3 x 1x 4 3 x 1

x xx x

 

   
        

   
  

           
   

 

x

x

lim




1 1
1 1

x x

x

 
   

  1 0 1 0 1 1
2

2 3 14 0 3 1 02 5
4 3 1

x x

   
   

     
   

 

 

 


